(@ A& DB AER]
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= ~ T2 6FE ) T2 THE =

L A | BAktE | 2 BIREt B | @Ak 30 27 B—A |B/A

8 ) 517,434 | 19.0 569,575 | 20.3 569, 575 0 52, 141| 110. 1
mEEERBEER 124, 100 4.5 201, 043 1.2 201, 043 0 76, 943| 162.0
B E OS5 ® 100, 996 3.7 102, 717 3.6 102, 717 0 1,721| 101. 7
i I = VO 3 1, 460 0.1 1, 481 0.1 1, 481 0 21| 101. 4
iR R v bV R ) 669, 400 | 24.6 648, 400 | 23.1 515, 200 133,200 | A 21,000[ 96.9
CREEWHEBRIR TS 1,414 0.1 1, 447 0.1 1, 447 0 33[ 102.3
NnEERCEBBE 13,015 0.5 13, 165 0.5 11, 439 1,726 160( 101. 2
ERARBERETFHRB 18, 280 0.7 21, 379 0.8 21,174 205 3,099| 117.0
E X 4 = 307,914 | 11.3 323,031 | 11.5 288, 165 34, 876 15, 117| 104. 9
87 E 4N A 8, 030 0.3 7, 807 0.3 7, 758 49 | A 223| 97.2
& By & 66 0.0 75 0.0 17 58 9| 113.6
o A & 67, 467 2.5 34, 734 1.2 22, 105 12,629 | A 32,733 51.5
& IR A 257, 838 9.5 230, 743 8.2 213,313 17,430 | A 27,095 89.5
B & 631,623 | 23.2 646,531 | 23.1 573, 600 72, 931 14, 908| 102. 4
B 2,719,037 | 100.0 | 2,802,128 | 100.0 | 2,529,024 273,104 83,091| 108.1

E = 5 3, 348 0.1 3, 386 0.1 3,329 57 38( 101.1
iR 5 B 239, 141 8.8 279,680 | 10.0 251, 749 27, 831 40, 439 116. 9
wm 8 B K B 51, 486 1.9 64, 720 2.3 44, 446 20, 274 13, 234| 125. 7
B B &£ F B 9, 819 0.4 9, 562 0.3 7, 621 1,941 | A 257| 9T.4
® B ® u =B 395,610 | 14.6 415,892 | 14.8 296, 090 119, 802 20, 282| 105.1
oz V=] B 196, 341 1.2 164, 250 5.9 146, 281 17,969 | A 32,091 83.7
= 15 =] 105, 372 3.9 109, 059 3.9 98, 705 10, 354 3,687| 103.5
K OE M OB OB 62, 156 2.3 58, 450 2.1 51, 047 7,403 |A 3,706| 94.0
= 5% = 237, 900 8.8 237, 361 8.5 187, 218 50, 143 | A 539| 99.8
E = = 126, 242 4.6 128, 232 4.6 120, 422 7,810 1,990( 101.6
2 = = 467,384 | 17.2 471,789 | 16.8 463, 848 7,941 4, 405| 100. 9
€ E B B B 3, 669 0.1 3, 907 0.1 3, 294 613 238| 106.5
VA & = 732,321 | 26.9 735,918 | 26.3 735,918 0 3,597| 100.5
& = unt & 88, 048 3.2 119, 822 4.3 118, 856 966 31, 774| 136.1
¥ 5] = 200 0.0 200 0.0 200 0 0| 100.0
st 2,719,037 | 100.0 | 2,802,128 | 100.0 | 2,529,024 273,104 83,091| 103.1
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